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650 1 Adj. R-Square 0.99966
] Value Standard Error
Lambdal(nm) y0 356.18479 3.78719
600 4|Lambdal(nm) A1 21.60599 1.7072
Lambdal(nm) t1 -2.08353 0.05571
550
IS
=
P
- 5004
E
—
450
//./
- = Lambdal(nm)
400 —— ExpDecl of Lambdal(nm)
T T T T T T T T T T T
15 2.0 25 3.0 35 4.0 45 50 55
d(mm)
El%* 3 dBH/NE/XRE, Lambda 5 d B9XF&
Equation = Al*exp(-x/t1) + y0
600 q y p( )+ Y
||Adj. R-Squar 0.99978
Value Standard Err
550 |Lambda2(n y0 350.4911 3.38235
Lambda2(n Al 24.73761 1.69748
’g 1|Lambda2(n t1 -2.19142 0.05432
c
% 500
k=)
E
|
450
//'.///
(o = Lambda2(nm)
400 1 —— ExpDecl of Lambda2(nm)
T T T T T T T T T
20 25 30 35 4.0 45 5.0
d(mm)

El%& 4 dHBXZ/Ef, Lambda 5 d BIX &

B E PR

4. SKREERMITER
4.1 et 0 5B IR

FAERER R 75 . i LAEVE H 410nm - 630nm.



IR S PR RN

FEARpE (07300190091)

ST, R

m xta (rad)
Linear Fit of xita

(rad)

0.30
0.25
0.20
0.15
g o
R 0408
Equation y=a+b*x
0.054 Adj. R-Square 0.99873
Value Standard Error
xita (rad) Intercept 0.00149 0.00125
0.00 xita (rad) Slope 2.78756E-4  1.99125E-6
T T T T T T T T
0 200 400 600 800 1000
B (mT)

i LB s SRSl I e B ARG B HE . SRR T kA

Elx 5 ek 0 5BRIXA

vt

e .

N — -1 -1
L=1.007cm, AJ LATHEEAGE]: V=958 T cm
4.2 tA 0 HERKKIRAR
Equation y =a+ b*x
0.10 - Adj. R-Square 0.9918
Value Standard Error
| xita Intercept -0.29702 0.00716| m
xita Slope 61768.73075 1693.03614
0.05
0.00
8
X
-0.05
= Xita
-0.10+ Linear Fit of xita
n
-0.15

Lambda’\(-2)

T T T T T T T T T T T T T T T 1
2.5x10° 3.0x10° 35x10° 4.0x10° 4.5x10° 5.0x10° 5.5x10° 6.0x10°

ElZ& 6 HEA 0 SEKMATRAMXER

B s

et 0 S i k0T 5 A2 SRR



IR b AN 59 (07300190091) BB, Rt

V(A)=-eA(dn/dA)/2mc n=n,+ A/ A*

FTLifr: V(1)=eAl mcA®

V PSR A B O SR B (O &R, TR 0 5 SR L
SR, Friliedtf 0 HEAKm i ko BRI . SERG AT DLk — Dl i P
MO HCS R, K AR, dEimal S .

S

1, BOGRSISE 2 A TRt 0 (IR, EER LR 9cbr i HIF A
REIER], DA AR S5 R R e S ) E o — M i die e, ot d
1, B AR /NN AN ] i ) R A /N A, AT R Eefidicot, DRI S
RPN T S A LR PP RO o AT ) ISt AT DA e i ' i e KR e /M
RAF BRI ORE,  FH LARAL A 152 i Je D PRI S0

2, BOBURERRRYIAFAEIR IR 22, S P i B B AN [l 17 T8
FEBEIERS B, Bk Tk 5 AN AN S RS H B BB R

PN
GRS RESORE RN MR, SES 4%, (MR TRL) 2002 4255 5 3



